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AR R T EH TIME E=E BE B EH TIME 5%
FRE MR (SRR 3 | 17 50m ik E 31.13 100m ik E 1:06.99 2
i EE|ER| 2 |17 F 200m ]z} 1:56.49 2
Baig B |ER| 1|16 100m EokE 1:04.50 1JOoC | 200m EokE 2:18.81 2 JOC
8H KE|(ER| 1|16 200m BB 2:03.65 100m N 5734 1:00.41
SN e | SR 1|16 200m B/ 1:58.49 200m | fEAXN - 2:07.62 1
TR =E|BEKR| 1|16 200m | BAXN V- 2:14.25 400m | BAXM - 4:44.12 2
INERABB SR 1 | 15| E 50m ]z} 27.25 200m B 2:10.37
EHE BX|[FF| 3 |15 100m ke 1:12.47 200m kE 2:35.40 3
=28 K| PFE| 3 |15 100m N 5754 1:04.55 200m | BAXD- 2:23.63
g T | HFE| 3 |15 100m N 5734 1:01.84 200m N 5734 2:17.15 3
BH  #5fs [FE| 3 | 15 50m BkE 34.28 100m BkE 1:16.98
KH #@A|HFE| 2 |14 50m Bk 33.23 100m BikE 1:10.41
1 B0 (R FE| 2 |14 100m BkE 1:07.64 50m 5754 29.40
KE MEA|HFE| 2 |13 100m B =g 100m N\ 5754 e
EACE | 2 |13 50m B R 29.11 100m | B/ 1:06.34
®w HMR|PFE| 2 |13 50m BB/ 26.53 3 100m BB 58.71
2B BE|HFE| 2 |13 100m =1 1:14.15 200m EpkE 2:40.73
EHE RE|(FF| 1|13/ D| 100m ke 1:11.76 200m kE 2:36.55 2
B/E FH|PFE| 1|13 100m B 1:05.40 200m B 2:22.04
PIIES #BIPFEl 1|13 100m =]z} 1:02.39 200m Bk 2:25.54 3
Sl EFE|RFE| 1|13 100m BkE 1:15.03 200m | BAXD- 2:37.95
EHEXRES | PFE[ 1|13 50m =]z 26.24 2 100m =]zz}i7 58.41 3
i EIB|HFE| 1|13 200m B 2:27.61 400m B 5:07.76
g E—|PF| 1|13 50m BB 34.36 100m kE 1:37.40
IR BN |HFE|] 1|12 100m Pk E ZEiE 200m | BAXN V- ZEiE
AR BE(HFE| 1|12 50m BEkE 33.83 3 100m BkE 1:11.91 3
Bt RS /INE| 6 |12 c 100m B 1:18.59 100m BEkE 1:24.92
it WX |/NFE| 6 |12 50m k& 36.58 3 100m kE 1:20.55
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K& |35E|2a|sn| K|  IEEE 1EH TIME Cka iizEs: 1 H TIME 755

X1 B |/NVE| 6 | 11 200m B 2:24.51 3 50m BKE 35.97

FH BE|/NINFE| 6 |11 50m B/ 40.90 50m BKE 47.05

I W\E[(/NF| 5 (|11 c 50m BB 38.47 2:33.87

NI XE[/NINFE] 5|11 100m B 1:15.90 100m N 5951 1:21.92

A% IR |/NVFE| 5| 10 50m BHikE 38.93 100m BikE 1:23.07 2
™R BEE|/NFE| 5|10 50m ]z} EiE 50m BKE EiE

AREF —#&[/VFE| 5 | 10 50m Bk 54.27 50m kE 58.86

AR e/ (/I F| 4 |10 50m B 32.45 2 100m =]zziz 1:11.46 2
R SR|[/INFE| 4|10 100m ]z} 1:30.46 50m BKE 46.74

Rl EEER [/VE| 4 | 10 50m B 43.19 50m HkE 47.67

RE B |/INE 4| 9 100m BHR 1:11.49 3 100m BEkE 1:27.11

By @/ FE|l 4] 9 B 50m S)zzhiz 46.84 50m BkE 48.99
HEREREZIT[/NVFE| 4 | 9 50m kE LB 50m N 5734 49.73

I 2= |/NFE| 4| 9 50m BkE 49.62 100m EokE 1:53.12
RA)II—Ht|/NFE 419 50m BB/ 52.00 100m BB 1:56.39
MEEKR—|(/INZE| 3| 9 100m EokE 1:40.03 3 200m | BAXD- 3:00.38 2
BIREXREA|/INE| 3| 9 50m N 5754 40.68 100m 5734 SRR

KiE RBE|/INF|[ 3|9 50m B 42.12 50m BKE 45.21

AT B/ FE| 2] 8 50m B/ 46.35 50m kS 52.47
EAFERE|NE| L | 7| A 50m S)zzhiz 56.77 50m BkE 57.42

BRI BERR|/NFE| 1| 7 50m =]z} 58.16 50m N 5754 1:05.50
FIRE<5|(KXFE| 1|18 100m EokE 1:13.36 1 200m EokE 2:32.33 1
=B WH|an| 2 |17 | s0m | Bmw 20.04 2 | 100m | Ba= 11411

Bt R |[ER| 1|15 100m EpkE 1:15.30 200m EpkE 2:41.95 3
fort #ER|PFE| 3 |15 . 100m B 1:07.69 200m B 2:27.47

g X (hFE| 3|14 50m EokE 34.53 1 100m EokE 1:14.13 1
WA BB |HF| 1|13 50m k& 42.82 50m N 5734 39.80

=FH B |fhFE 1|13 D 100m Pk E ZEiE 200m FkE EHE
FIR<DH|FFE| 1|13 100m k& 1:18.85 2 200m EokE 2:47.59 2
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K& |35E|2a|sn| K|  IEEE TIME &5%E iizEs: B TIME 755
mEE EA/|FFE| 1|12 50m BB 29.24 1 100m kE 1:21.60 2
ZE BHE|HFE| 1|12 400m B/ 5:01.09 100m HkE 1:15.99 2
KEF WE|/NFE| 6 |12 50m B 30.88 100m | B/ 1:07.89
GSIEER |/NE| 6 | 12 50m B/ 30.96 100m ik E 1:23.63
aAR BH|IFE| 6 |12 50m ]z} 30.61 200m B 2:30.84
FAE I [/NFE] 6 | 12 200m B/ 2:39.50 100m HkE 1:25.62
SH =I/NFE| 6 |12 50m S)zzpi 30.39 50m N 5734 33.27
Al (TE|NVE| 6 |12 c 50m B 29.24 1 100m B 1:04.44 1
all DA|INE 6 |12 100m Bk 1:16.34 3 50m N\ 5774 35.94
Rl BR|/INFE|] 6 |12 50m k& 38.32 100m EokE 1:27.30
TE BIh|/NE| 6 |12 100m S)zzpi 1:15.83 100m N 5934 1:19.13
WS [/NE] 5 | 11 50m B 35.00 100m FkE 1:37.23
MEFEETT |/NVE| 5 | 11 50m S)zzpi 33.80 100m N 5934 1:21.64
e B0 |/NE| 5|11 50m HkE 46.42 50m FkE 52.16
=R Z=FH|/NFE| 5|10 100m N 5734 1:34.37 3 200m | BAXD- 3:16.41
KT BAEL|/NE| 4 |10 50m B 42.34 50m FkE 5451
E W |/NE| 39 B 50m B/ 49.06 50m Pk E 1:02.99
AAOCED|/NE| 3] 9 50m =1 1:04.83 50m N 5951 51.73
=M TEE|/NVFE| 3| 8 50m kE 55.34 3 50m 5734 52.89
TR “E|/NFE| 2] 8 50m EokE 1:01.06 50m N 5734 54.17
RiREENIE[/NE| 2 | 8 | A 50m ]z} 56.96 50m kS 1:03.68
figtlE RE|/NE| 1] 7 50m HkE 1:11.35 50m ik E 1:09.24
IR M (/INVFE| 1| 6 50m BkE 1:03.74 50m kE 1:11.31
2= — (ZFH)

&8 FE1%xB FE2%kB E 3B FE4XxE NAEE| Bk | #FEciR
AU KTE SH =R SIEBEHER KE =
ZF |11-12& | 200m 1:58.43 1
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